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1) 2aa+3) (2 3z(x—3y) (3) 2ab(3b—4a) (4) 2x(a—2b+2c) (12) y’+4y —96 =(y —8)y +12)

(5) 3axlx+2a—4) (13) 224152 +36=(z +3)z +12)

(1) 2a*4+6a=2aXa+2ax3 (14) 2418t +77=(t+7)Nt+11)

=2a(a +3) (15) p2—13p—30=(p+2)(p —15)

(2) 3z°—9zy =3rXz—3z Xy (16) 2’45z —50=(z —5)z+10)

=3z(z —3y) (17) 2?—16z+55=(z —5)(z —11)

(3) 6ab*—8a’ =2ab X 3b —2ab X 4a (18) 22410z —56 =(z —4)(z + 14)
=2ab(3b —4a)

(4) 2ax—4bx+4cx =22 Xa—2x X2b +2x X2
=2z(a —2b +2c)

(5) 3ax?+46a% —12ax =3ax Xz +3axX2a —3azx x4

=3ax(x+2a—4)
1) (z+3)xz+6) 2) (x+4)z+9) @) (z—1)z—4)
4) (z—3)Nx—17) 6) (z+1)xz—38) 6) (z—2)(x+6)
7 (=2 z+7) 8) (x—2)xz—10) 9) (z+2)x+15)
10) (z—6)(x+18) (11) (a—3)a—30) (12) (y—8)y +12)
13) (z+3)(z+12) (14) @¢+7)(¢+11) (15) (p+2)p—15)
16) (x—5)x+10) (17) (x—=5)x—11) (18) (x—4)x+14)
) 22492418 =(x+3)z+6)
) 224132 +36 =(z+4)z+9)
) zi—br+d4=(x—1)z—4)
) z:—10z+21=(x—3)z—7)
) 22—Tz—8=(z+1)z—8)
)
)
)
)

(
(
(
(
(
(

2442 —12=(x—2)z+6)

2 45 —14=(z—2)z+7)
22—122 420 =(z —2)(x —10)
224172+ 30 =(z + 2)(z +15)
10) z%4+12zx—108 =(z —6)(x +18)
11) @®—33a+90 =(a —3)a —30)




